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Weighted Sample

Both of the main political parties have said they
will look at introducing a cap on the total cost
of benefits. Labour have said this should
include the cost of state pensions, which make
up alarge part of the welfare budget. The
Conservatives have said a cap should not
include the state pension.

Do you think a cap on the total cost of benefits
should or should not include the state pension?

The cost of pensions SHOULD be included in a cap
on the total cost of benefits

The cost of pensions SHOULD NOT be included in
a cap on the total cost of benefits

Don't know

You

What the world thinks

2010 Vote Gender Age Social grade Region
Lib Rest of | Midlands
Total Con | Lab Male | Female | 18-24 | 25-39 [ 40-59 | 60+ | ABC1 | C2DE | London North | Scotland
Dem South | /Wales
676 222 |1177| 135 | 329 | 347 82 | 172|231 |191| 385 | 291 87 220 145 166 59
% % % % % % % % % % % % % % % % %
26 17 34 30 | 31 21 38 27 26 18| 27 24 31 21 27 27 29
57 69 47 58 | 55 59 33 48 58 74| 56 59 53 64 54 55 50
18 15 19 12 14 20 30 25 15 8 18 17 17 15 19 19 21
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